
ta

Full Marks : 1OO

Time : Three hours

The fl.gures fn the margln lndlcate
full marks for the questl.otts.

Answer ang flae questions.

schema
set F of

E_> A}
into

10

Why are certain functional
dependencies called trivial functional
dependencies ? 2

What is the dependency preservation
property for a decomposition ? Why is
it important ?

1.

BCNF of the schema.

4

Contd.
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(B) Let the
given :

be
8

(c)

R= (A, B, Cl
S= (D, E, F)

Let relation r (R) and s (S) be given.. 
Give an expression in the tuPle
relational calculus that is equivalent to
each of the following :

(t) n A,B(')

(it) oB = 2O(r)

Explain the differences between
tier and three-tier architecture.
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